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df = n1 -1 or n2 -1 

Whichever is Lower 

|𝑧𝑐𝑎𝑙𝑐| > |𝑧∗|  → 𝑅𝑒𝑗𝑒𝑐𝑡 𝐻0 

|𝑡𝑐𝑎𝑙𝑐| > |𝑡∗|  → 𝑅𝑒𝑗𝑒𝑐𝑡 𝐻0 

𝑝 𝑣𝑎𝑙𝑢𝑒 < 𝛼 → 𝑅𝑒𝑗𝑒𝑐𝑡 𝐻0 

Confidence Interval 

-We are __% confident that the true population 
(mean/proportion) of _____ falls between __ and __. 

Traditional Test 

-With a (zcalc/tcalc) value of __ being (greater/ less) than a 
(z*/t*) value of __, we (reject/ fail to reject) H0. 

P-value Test 

-With a p-value of __ being (greater/ less) than an α-
value of __, we (reject/ fail to reject) H0. 

General Note 


